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SAPMLE PAPER - 35

Q321. The IUPAC name of C,HsOH is
C,HsOH &T IUPAC ATH &:

A. Ethanol /3?J?r”r<‘~r

B. Methanol /AYaATel
C. Methanal /AYTT
D.

Ethanal /TUdATel
Sol-
INumber of Carbons| Name |
| 1 | methane |
2 | ethane |
3 ' propane [
| 4 | butane \
| S [ pentane l
6 hexane ]
7 | heptane |
| 8 | octane ]
| 9 | nonane |
| 10 | decane |
| 11 |undecane|
| 12 |dodecane

Q322. In pickling and etching acids are used.
TAHDIT FelTed 7 31T AFaprlY & 31T T 39T fhar Ararg?

Sulphuric acid /WW

Hypo chlorous acid / BTSUTFRE 375l
Phosphoric acid / BIERIRe 31T
Phosphorous acid / BIEPRE 31FeT

o 0 ® >

Sol-
In pickling and etching process, the acids used are hydrochloric acid, sulphuric acid and nitric acid.

3R FeTTel 3R sTerehRiT hr Iishar H, gTgsierelliieh UTHS, Hedrgeh s AR Arsieen Uils &1 3udien
T STaT

before PICKLING after PICKLING
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1. Hydrochloric acid- Used to dissolve metals like iron, steel, and aluminum, and is often used to clean
and prepare metal surfaces before painting or coating. It's also used for pickling carbon steels with
an alloy content less than or equal to 6%.

2. Sulfuric acid- Used for pickling, passivation, and other surface treatments. It's also used for pickling
carbon steels with an alloy content less than or equal to 6%.

3. Nitric acid- Used for etching stainless steel, titanium, or other high alloy metals. It's also used for
pickling steels with an alloy content greater than 6%.

4. Hydrofluoric acid- Used for pickling steels with an alloy content greater than 6%. It's also used for
etching stainless steel, titanium, or other high alloy metals.

5. Phosphoric acid- Used for pickling steels with an alloy content greater than 6%. It's also used in
some multi-acid etching baths.

Q323. Naphthenes are also called as
AT T T HgT ST &2
A. cyclo alkanes / ET8aall 3eched
B. aromatics / WiAeTFT
C. cyclo alkenes / ATSFaIT Ucched

D. cyclo alkynes / HISFl Todhe
Sol-
Naphthenes, also known as cycloalkanes, are saturated hydrocarbons that have at least one ring of
carbon atoms.
Cycloalkanes (naphthenes) are present in significant amounts in all practical transportation fuels.

AT, TS AT Fcil3Teshed 8 el ST 8, Tl GISSIhTSE Bl o ToTeTdl hTee] TATUT I hef &
FH Teh 3PS BIAT & |
T SATTETR TR ageT Seil & TSFell3Teshed (AEe) Hgcaqol AT 3 Ais 8 1

Q324. How many types of absorbed impurities in water are there mainly?
Tl 3 3TN [T & HET TehR A fohclel TTEI &7
2

oo ®p»

3
4
5
Sol-

There are four types of impurities in water are there. They are suspended impurities, dissolved gases,
dissolved mineral salts and bacterial impurities.

STel # TR Yo B 3T gl & | I foreiforet Jre[efera, gei g5 314, gferd @ferst eraor AR sfraroy
BRI
Q325. To calculate the net calorific value, the products are:
JICH AR HTeT T AU &l & AT, 3cU1e 8
A. cooled /&TWE’IHT%’
B. allowed to escape/ GERGRECIRSIG] %’
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C.

D.
Sol-

heated /Trﬁﬁ?QJTETFlT%
coIIected/WﬁquT\_ﬂ'lﬁT%

Net Calorific Value (NCV) means lower heating value (LHV) i.e. lower calorific value (LCV) is
determined by the subtraction of heat of vaporization of the water vapour from the higher
heating value. In addition, It assumes that water vapour leaves with combustion products

without full condensation.

G SHIT AT (NCV) T 1Y § 1o 1T ATeT (LHV) 37T oot 3T A1 (Lev) ST arT
HIeT § el AT o JTSYIERUT T FSAT o TTId GaRT iR foham Jrdr § | $8eh 37ermar, I8
AT & 35 STt ars qut Feretet & 91T ageT el & Ty g &g |

Q326. Laundry soap is:
HUS el T HGA -

A.
B.

C.

D.

sodium carbonate / BIf3TH F1efac

a mixture of sodium salts of higher fatty acids of natural origin /mﬂ‘ﬁ?ﬁmm
& WTSTH 1ot &1 fAsor

sodium chloride/ BIfSTH FRSS

a mixture of sodium salts of synthetic sulphonic acids / HAfes gewifas tfas & Aifsas

9T T TAS0T

Q327. Nylon is prepared from:

STl fohad R fohaT SITar g2

O 0w >

SOl-

Adipic acid and hexametheylene diamine / WWWWW
Ethylene glycol and nitric acid / TTellel TSIt 31 ATSTe e 315aT

Hexametheylene diamine and phthalic acid /mrﬁﬁraﬁ?rmgmﬂwﬂsﬁa?m
Ethylene glycol and adipic acid / Uﬁ@ﬂmwﬂ%ﬁﬂiﬂﬁ?

Nylon 6,6 is obtained by condensation polymerisation of adipic acid and hexamethylenediamine,
Nylon 6, 6 is used in making sheets, bristles for brushes and in the textile industry.

ATt 6,6 Ufsfie vfis 3R g TIeNAEIAE & Toe NelARTSoIRIe GaRT e fohar
JTATE,
ARGl 6, 6 3T SUINT TG, 7 & forded 3R FUST 3T A fFar Frarg |
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O
WNHQ + o
HoN OH
0]
hexamethylene diamine adipic acid

T

e /\/\/\/N
!
O H

Nylon 6,6

Q328. The metal used to recover copper from a solution of copper sulphate is:

ST Hethe & Eilel § TIiaT &l J&T: JTCd et & [T Sgerd a1 8

A. Na
B. Ag
C. Hg
D. Fe

Sol-
Iron is used to recover copper from a solution of copper sulfate.

FIUT Hothe & OTeT Y HIUT &Y TlehTeley & ToIT 3T T 3UANET fomT STt &

Q329. Anhydrous calcium chloride acts as a (an):
foroTor HToRTH FARTSS Udh & FT H HI HIAT 52
drug / &dr

oxidant/3-ﬁﬂ’€ﬁ§?.'

mordant/?FﬂéE'

dehydrating agent / faroTellehiuT Taie

o 0w >

Sol-

Calcium chloride is an inorganic compound, a salt with the chemical formula CaCl2. It is a white colored
crystalline solid at room temperature, and it is highly soluble in water. It can be created by neutralising
hydrochloric acid with calcium hydroxide.

These compounds are mainly used for de-icing and dust control. Because the anhydrous salt is
hydroscopic and deliquescent, it is used as a desiccant.

HTIH FoRTSS Ueh Jehralfeieh TfaTeh 8, Forerent Tarafelsh G Cacl2 §1 T8 o & dT9HTT I e
91 T ForEeolia 314 81T §, 3R I8 et 7 3rcaferess geterelier g1ar & | I8 Hiceras gregieaamss & ary
gISaIFallieh UTAS &l TATSHhT ich SoITT ST AhdT 6 |
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ST ATt AT 3TN HET &7/ S-S 3R Yo TAIA=071 & Torw fovar e & | feh fovster 1o
gTsaIEahITue 3R fBfafaade glar &, safov sHeT 3UATT desiccant & & & fHAT SITAT 1

Q330. Malachite is an ore of

Holhrse forda 3THh & ?
A. Magnesium/ s
B. Copper/draT
C. Mercury /9RT
D. Manganese/ HareAToT
Sol-

Malachite, a minor ore but a widespread mineral of copper, basic copper carbonate,
Cu,CO5(0OH),. Because of its distinctive bright green colour and its presence in the weathered
zone of nearly all copper deposits, malachite serves as a prospecting guide for that metal.

HATHIST, Teh BICT 31ATH olfehed e T Teh AT WiaAT, Hel A€ TalaAe, Cu2C03 (OH) 21
3791 faferse Tt X 11 31X SRTe79T T3 e & SR & 31981y &7 & g 3ufeufa &
ROT, HATHIST 3H YT & foIT Teh qJ&ToT ARG RTA & &9 7 R T g |

Q331. What is the formula of Sodium Zincate ?

AIfSTHA TSiehe 1 g FAT5?
A. NazZnO;
B. NaZnO;
C. Naanoz
D. Na3zn02
Sol-

Depending on the conditions, sodium zincate relates to anionic zinc oxides or hydroxides.

The exact formula is not inherently important in the implementations of these materials and it is
probable that aqueous zincate solutions comprise of mixtures.

Related oxides are also known such as Na,Zn0,, Na>Zn,03, Na10Zn40q

raEUT3HT F TR W), AETA TSiehe 3o o 3iferarss ar gresiearss & dafod alar &l
ST AT & FIT-adel H AT G TATHTTGS €9 8 HAgcd Ul 76 & 3R Ig GHaT & fh
STl Toiohe TATETAT & 40T Qnfevet &i |

HETT FETSS P NasZn0,, Na,Zn,0s, NayeZnsOs & TF H 8T ST ST & |

Q332. Why is phosphorus kept under water ?
HITHRE TTAT 7 F4T T@T ST 82

A.

Phosphorus is to be kept cool / TIREPRH &l 33T IWe! & ToIT |
Phosphorus gets burnt when exposed to atmosphere / W%Wﬁmwﬁmﬁw

ST AT &
Phosphorus is light sensitive/TTERRE JehT HagAMeT aIaT & |
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D. Phosphorus produces vapours that are toxic to human beings/mﬁdcqﬂ areq Helsg &

IGIMERIERRGE]

SOlI-

White phosphorus is highly reactive, and spontaneously ignites at about 30°C in moist air. It is usually
stored under water, to prevent exposure to the air. It is also extremely toxic, even in very small
quantities.

e BIERRY 3 gfafhareiie giar g, 31X 7% gar & oererer 30 B afcaay ) 3=
Todield a1 ST & | §aT & TUeh H 37T F §2Te & ToIT 3@ 3MHAR W Ir=T & A @I AT g Ig 95
e AT H §Y 31cad Avergiarg |

Q333. As compared to nitrogen, oxygen is
ATSEISTe T Jolell 7 Jiferelioret &
A. Less electronegative and less reactive /wﬁag?hwsﬂ?ammﬁa
B. More electronegative and less reactive /am%agammmwmhﬁ
C. More electronegative and more reactive /31f&Is Iraq}id FUTcHe 3R 3118 giafshaneiier
D. Less electronegative and more reactive /WWWWWWQW

Sol-
The electronic configuration of nitrogen is: [He]2s2p; 2p! 2p:

The electronic configuration of oxvgen is: [He]2s" 2p2 2p- 2p!

e Both have valence electrons electrons in 2p orbitals.

e But oxygen has partially filled 2p orbitals which is less stable due to spin pair electronic repulsion
between 2 electrons whereas nitrogen has half filled or singly filled orbitals having no spin pair
electronic repulsion.

e Hence, nitrogen is more stable.

o Gl H 2p 3HifSccq & JoiT STl SolaeiT gl 6 |
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o Afrat 3iTFHST o 2p 3iifdeceT FI 31w T A SRTE S o 2 SAAFTAT & Sy T Sy
gelrgiiaie YTAeRYOT & HROT el U & STafeh ASEIoTT AT 81X U AT 3hed SR T
Hifdeed & [SeTd SIS [80et SISY Setarciieles Siansura g |

o 3TfAT, A 31 fRR B

Q334. The number of daughter cells formed at the end of meiosis from a cell
Teh I R1eRT A ST AT & 37 A Ffel arell Hdfd A3t hr aear
A. 2 haploid cells /H?;Iﬁﬁﬁw
B. 2diploid cells /aj%rugﬁﬁ?rmw
C. 4 haploid cells /H@HW
D

. 4 diploid cells /ZfafOTeT hifRreprd
Sol-
e Meiosis is a type of cell division that reduces the number of chromosomes in the parent cell by
half and produces four gamete cells. i.e no. of daughter cells = 4.

o NUGANTIHTSIST Teh T T HITRAHT IHATTA & ST FeT ITRAT ¥ IURFET T HEAT T HTET HY
& g 3R AR gadAes HIRAA131T 1 T 0T el 8 | ATt 76T | T P13t 7 = 4.

Meiosis

Mitosis
Germ Cell (2n)
Parent Cell (2n)
@ ‘ DNA Replicates
B

* DNA Replicates

P
Mitosis 2 Daughter Cells (n)
/ \ J \ J \ Meiosis Il

@ 2 Daughter Cells
(2n) 4 Gametes (n)

Q335. Breakdown of pyruvate to yield CO2, H20 and energy takes place in
qISHAT & CCAT CO2, H20 3R FaAT 3ceed et & fAT glar g
a) Cytoplasm /PITAHT e

b) Mitochondrion /ATSCIhITSAT
¢) Chloroplast /FARICATEE

d) Nucleus JGUEED
Sol-
e The break down of Pyruvate to give Carbon dioxide, energy and water which takes place in the
presence of Oxygen is termed as aerobic respiration. This process takes place in the
Mitochondria of a cell.
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o UISHAT T FHIeT SSIHTFATSS, Foil 3T aTell St & TIT geatr At 3iferefatet S 3ufeafa 7 grar
€, W QGT g alTdT ¢ | TG TTShAT hITRAHT oh FATSCIhI 5T H gl g |

Glucose breakdown

Glucose (sugar)

Pyruvate
Pyruvate
Dehydrogenas
Complex
Acetyl-CoA Lactate

Mitochondria

Q336. Which of the following is not required in the synthesis of carbohydrates?
Ffafed & @ Sl wrefgrsge & TRAToT & 3Tavyh g1 g2

. COz

Chlorophyll /FRITRer

Nitrogen /=TS IoTo]
Water /9Tt

OO0 wp

SOl-
e In plants, carbohydrates are synthesised in the form of glucose by the process of photosynthesis
in the chloroplast using the pigment chlorophyill.
e Chlorophyll molecules are present in and around the photosystems which are embedded in the
thylakoid membranes of chloroplasts.
e Plants use carbon dioxide and water in presence of sunlight to synthesise glucose and release
oxygen. There is no role of nitrogen.

o Uil #, FARITATES H qUTH FRITthel T IUANT FHleh eIl HLAYOT T GshaT garT
HISBISSC T Tfehlol o & H TN T ATAT & |

o FoIRIThor 0] BIEIHAECH # 3N 38 THITH HISE §lct & il FARITATES & ATTlThISS
et H TSz g i |

o Ol TSI T HRATIT et 3R 3irefiatet BIgat & faw G & wehrer 1 3ufeafa 7 et
SIS 3iTraTSS 3R ITeiT T 3T A § | ATSEIST I Ig AT 6T aIc & |

Q337. When a particle and an antiparticle come in contact with each other, they

SIS ek 07 3R Ueh TEUTIEohel Ueh GO & GO H A g ard
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A. repell each other/WE{H’l‘ﬁtﬁmﬂT

B. annihilate each other/@-@}l’i’ﬂmﬂmg

C. go undisturbed/@'ﬂﬂﬁm

D. spin about a common axis/Tdh TTHH 3767 & IR H &0 A |

e Matter and antimatter particles are always produced as a pair and, if they come in contact,
annihilate one another, leaving behind pure energy.

e During the first fractions of a second of the Big Bang, the hot and dense universe was buzzing
with particle-antiparticle pairs popping in and out of existence.

o TETY HR TS HUT GHRT U SAIST 6 &9 7 3c9e+T gl & 3N AT I T # 31T &, A Y&y
FoT oh T SISl §U Ueh @R I a7se I &t §

o TaT a7 & Ueh Aehs & UE e IR & AR, 197 3N U FEATS HUT-Gfaehor Sis @ eeii & AR
3fedca H IR TR IR A

Q338. Based on the periodic trends for ionization energy, which element has the highest ionization
energy?

3TTIATRIOT FaAT o TorT 3Tafties T & TR W, TR ded 3 T 3T ITTATROT FoiT giar 872
1. Nitrogen/a‘-|l3§|3|o_-l
2. Bromine/ SiAT
3. Fluorine/Feli{IeT
4. Helium/ gYferae
Sol-
e Element (Period, Group number):
o Bromine (4,17)
o Fluorine (2,17)
o Helium (1,18)
o Nitrogen (2,15)
e Helium has the lowest period number and highest group number, therefore, it has the
maximum ionisation number.

o dcd (37afe, Tayg @&A):
o sH (4,17)
o el (2,17)
o giferd# (1,18)
o olIgereld (2,15)
o BITCTH T T8 HH AT HEAT 3N ITTdH TG HEAT B, TATAT HebT 3Tehca
3T THI0T TEAT R |

Q339. Fleming’s right hand rule is used to find the direction of the

FI TR & TRt 8T o TATeT o1 Tt forgehT feem ATd et & forw fhar Srar g2
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oo ® >

Sol-

Alternate current /ScaTad &RT
Direct current /Teh{eRT €IRT
Induced current /9T &RT
Actual current /aTEdTdeh 8TRT

Fleming’s right hand rule shows the direction of induced current when a conductor moves in a
magnetic field.

The right hand is held with the thumb, first finger and second finger mutually perpendicular to
each other. The rule is named after British engineer John Ambrose Fleming.

SISl S TTeTeh YoehIa &1 H Tt Il & cil FelTHaT oh aligeT BT ohT forarar YR amT T fgem
FIEATATE |

aIfet BT I 39[S, Tgel 3Tl 3R GET 3aTeT & Y YR edad T@T 71T & | 36 fFas &
1o Teifeer SSNfezR SileT vaii welfHer & AT W I@T AT 8|

Q340. Which of the following has got more heat capacity ?

frafaf@a & O frgeh! AT &7H7aT 31T 872

O 0w P

SOl-

Iron piece /@?WW
Water /9Tt

Gold piece /@FTWW
Benzene /daileT

Heat capacity (usually denoted by a capital C, often with subscripts), or thermal capacity, is the
measurable physical quantity that characterizes the amount of heat required to change a
substance’s temperature by a given amount. In the International System of Units (Sl), heat
capacity is expressed in units of joule(s) (J) per Kelvin (K). Among iron piece, water, gold piece
and benzene; water has the maximum heat capacity i.e. 4.1813 j/g.k.

ITHT &THAT (3TAAN W i €Y garT RAfEed, 3rret GafEshce & 1), AT Y3 &THdT, AT
A A AT S R gere & JTIHTe Y R igT It Y & Sgers & fT AT
1T 1 AT Y GRATCAT & | SeaereTol FAEes 36 IfAcH (1) H, F AT 677 a1 5[ () (1) 9fd
hieae (K) T ShSAT H ceFel T ST & | SANe & ghs A, TTell, it T gehaT 3N Safied; STel Y
FSHT & 3TThda gidl & 37UTd 4.1813 j/g.k




